| Chongaing Zongshen Aero Engine

‘ Service Bulletin Manufacturing Co , Ltd
. FTEMRN . CHONGQING CHINA
TONSFN AFRO FNGINE NO. MSB2025-5K2-01 PHONE +86-23-66376087

FAX: +86.23 66372674

Uk
SUGGESTED
ik % @

SERVICE BULLETIN
NO.MSB2025-5K2-01

EE%E REPEATING SYMBOLS

I E-TEERS, EHXHPRRFENEER.
Please.pay attention to the following symbols throughout this document emphasizing particular
information.
A 55 FrmEREERE, TSR,
-: Identifies an instruction which, if not followed, may cause serious injury
including the possibility of death.
A Abe: WORABGEIEAR, T RER K BBt B S O R
CAUTION: Denotes an instruction which if not followed,may severely damage the engine or
could lead to suspension of warranty.
E: RrHBER WHTELEMNKERS.
: Indicates supplementary information which may be needed to fully complete or
understand an instruction.

5% Rev. HAi W) Issue Date LAY Page
1 21 | February | 2025 1-10

L8 00000 OO


https://v3.camscanner.com/user/download

ZONSEN AERO ENGINE

Manufacturing Co., Ltd
CHONGQING CHINA
PHONE:+86-23-66376087
FAX: +86-23-66372674

Service Bulletin
NO. MSB2025-5K2-<01

1 EAERE BASIC INFORMATION

1.1 F& SUBJECT
Kk 2,

The outlet water flange seat.

1.2 RaWEM ENGINES AFFCTED

Cho;igaﬁ; ﬂ;ngshen Aero Engine

NP S F¥ 5%
Engine type Serial number
C100 22K021~22K050
22K001~22K020
23B001~23B050. 23C001~23C002. 23C004~23C005, 23D001~23D041
C100- 1 23E011~23E014. 23E016. 23E017. 23E021~23E027. 23E029. 23E030, 23E032~
23E043. 23E045~23E050. 23G003. 23G004. 23G006. 23G008~~23G010, 23G012~
23G020. 23G022~23G024. 23G027. 23G033. 23G035. 23G037. 23G043. 23G045.
236048
C115-TI 22K001. 22L001.
23B001~23B003. 23D001. 23G001. 23G002. 23H001. 23H003, 23]J008
Cl115-IV 23B006~23B010. 23B011~23B055
C115HT-1I 24G001~24G003
C115HT-1IIB 23C001
C115HT-VI 22K001. 23C001. 23F001~23F006
C115HT-VIA 24D001~24D002. 24E001~24E005
C145HT-V 22M001. 23C001~23C005. 23F003~23F007. 23F009. 23F010. 23G001~23G009
C145HT-V A 23F002, 23J001. 23J002. 23M002. 24H006
C145HT-VB 24G001~24G002
C145HT-V C 23F001~23F003. 23G001~23G003
C145HT-VI 23B001~23B003. 23E004
C145HT-VIA 22C008, 23G001~23G003. 23L001. 23L002. 24G001~24G003
C80-1I 23A001~23A010
C80I-1 24K002, 24K004, 24L010, 24L017. 24L020, 24M002
CA300 23E001~23E002, 23F001., 23H001. 23L001. 24B001
CA300-1I 241001, 24L002
221001, 22L002. 22M001~22MO010
23A001~23A015. 23H001. 23L001~23L003
Lo 202403027~202403034. 202403052~202403113. 202404011~202404023
24A001~24A020. 24B031~24B052. 24C014~24C026. 24D001~24D010. 24E016
CA5001- 1 202412001~202412002
W& Rev. % % H # Issue Date 15 Page
1 21 | February | 2025 2-10



https://v3.camscanner.com/user/download

Chongaing Zongshen Aero Engine

Manufacturing Co., Ltd
T T Service Bulletin ~elons Gao::cmm
zonsen aero evenve | NO. MSB2025-5K2-01 PHONE +86-23-66376087
FAX: +86-23-66372674
24J001, 24J004
CAB00T-TI 24G003 246007
254001~ 25A002
22K003. 221001 ~22L.005
CA510 23G001~23G005, 23HO01 ~23H005. 23K008~23K009
24C001. 24D001-~24D010, 24J006~24]J010
CA510- 1 24M001
CA520T 24E001
CA520T- 1 24G001. 24G002
CA520T-1A 24H001 . 24H002
CA520T1 23K001~23K004
CA520TI- 1 24G001~~-24G002. 24L001--24L002
CAS50T 23D001~23D003, 23F001. 23F002. 23L001~~23L007
24B001., 24D002~24D040. 24E004~24E011. 24H010
CAS50TI 23H001~23H004. 24B001. 24B002. 24H001
CAS50T- 1 23F001. 23J001~23J002. 24K001. 24L001
CASS0TI- | 24M002. 24M003
CAS50TI-V 24E001. 24E002
CAS50TI-TA 24F001~24F010

1.3 JE[A REASON

BT KEZ M EREREMRD, SEERLEAM 0 MRKRE S EER
B 5O, REXSE. RVURET 25l KiE2EAER.
1.4 $7H[E TIME OF COMPLIANCE

SNk 5 HKEZ B B R B E MR R: & CHRAR, BF
KRN HAEARE A I PAT: B AFE MR, B DGLRIRAT
15 2% f REFERENCES

BANHLRKAE T .

1.6 JiEHH#E MASS DATE
i1 () 2 e N S o

AR e N S

LA Rev.

KAl 1 W) I1ssue Date

1 21

| February | 2025

T FY Page

3—10

el 00000 OO


https://v3.camscanner.com/user/download

ZONSEN AERO ENGINE

Service Bulletin
NO. MSB2025-5K2-01

Chongqing Zongshen Aero Engine
Manufacturing Co., Ltd
CHONGQING CHINA
PHONE:+86-23-66376087

FAX: +86-23-66372674

1.7 STRMRITWHOEN OTHER PUBLICATIONS AFFECTED

1.8 THEH:M INTERCHANGEABILITY OF PARTS
TSR A LN, R TFHIER.
D ZRE T TR AR T M0 348 KR IE 48 5 B UR 2 B 3P 2 84 7

iR % bl

2 #AREE TECHNICAL DETAILS

2.1 FERE H# MATERIAL&AVAILABILITY

gapne | ®° | memsn | TI09 | pppen | BEES | H
_ item New Part 0ld Part | &
Engine type 2 0ld Part Name New Part Name
No No No Qty
C115HT- L Sk HH K B i 24 T 3k tH KBV 22
929 i’
vicoBsweoooz/ac | | | (i sma) | 0N | (s smassy | 00011929 | 4
5M60003) /VIA. 0 $20.8X ¢ 0 ®IME $20.8X ¢
——— 2 L8 D 900011949 1.8 _EPIN 900011949 | 4
C80I. C80I-I. 0 (16X1.5 = 0B (16X1.5 =
- 07233 - -
CAS001-1 . 3 = 2. T 9000072 5 2. FH) 900007233 | 4
CA520TI, Cl15 KEHKES Cl15 KEHKES
A. CA550TI.
CASS0TI-1/TA/ | 5 | SLkH/KEEEK | 900012749 | FIkH/KEEBEL | 900012749 | 1
11 /IIA/V /VIA
T 3 K i 24 B 3k tH K B 24
1 900011929 929 | 4
T ) (WS ) |
’ 07 $20.8X ¢ T— 0 %Y ¢ 20.8X ¢ sodo 1008l 3
1.8 EPDM 1. 8_EPDM
C145HT-VI O (16X1.5 = 0OM(16X1.5 =
3 i - 900007233 . 7
2Tt : Rpme | 000013 | 4
Cl15 KEHKES ClIS KRHKES
4 % (%) 900210002 () 900210002 | 2
5 sk K EEHEL | 900012749 | Lk H/KE EEL [ 900012749 | 2
€100, C100-1 . {3k 7K i 24 B L 3k tH K ik 24
s 900011929 900011929 | 4
Clus-I/N. | || (st e 4 )
C115HT-11 /111 2 | o d20.8xd | 900011949 | 0 KIME $20.8X & [ 900011949 | 4
Jf 4 Rev. %4 I W) 1ssue Date TS Page
1 21 | February | 2025 4—-10

BE 00000 OO


https://v3.camscanner.com/user/download

Chongaing Zongshen Aero Engine

Service Bulletin Manufacturing Co., Ltd
SHBAhne CHONGQING CHINA
2onsen aero eneive | NO. MSB2025-5K2-01 PHONE:+86-23-66376087
FAX: +86-23-66372674
B/VI (9B5MB00O01 1.8_EPDM 1. 8_EPDM
« 9C5M60002) « OmMO6x1.5 = OFM(6x1.5_=
y ol = | 900007233 = | 900007233 | 4
C145HT-TI1/ V / V 76 L R sk 1)
B VC. C80-11.
CA300. CA300-1/
1. CA500.
CA500-1 .
CAS001-11 . ClI5 KEHAES Cls KR AT
asiticeiE 5 (%) 900210002 5 () 900210002 | 4
[ . CA520T
CAS20T- 1 / 1 A
CA550T. CA550T-
I

2.2 ¥% 1% SPECIALTOOLS
y,
2.3 TR Manpower
Fit3RAc THY:
T L RE KT ERRBIHL-——6 AN
TR REE KITE LR REIN---2 N
2.4 A7 F1EE COMPANY SUPPORT INFORMATION
FHRALRAZABEARBZEH A, (FRE, dGRKR, BiERAFICE
R FARE A RPN TR . B, KSLED KB R QEELE
B,

3 #47/#64 ACCOMPLISHMENT/INSTRUCTIONS

3.1 $#4T ACCOMPLISHMENT
FrEN 24 n] S RN KIEF A .
3.2 4 INSTRUCTIONS

% T 3.2.1 BH KL LI H KL

[ Rev. KA A W) Issue Date 715Y Page
1 21 | February | 2025 5—10



https://v3.camscanner.com/user/download

Chongqing Zongshen Aero Engine

Manufacturing Co., Ltd
=2 EH AR RS Service Bulletin S OGN CHA
zonsen aero eneve | NO. MSB2026-5K2-01 PHONE +86-23-66376087

FAX: +86-23-66372674

321 EMH/KEZE REPLACE THE WATER FLANGE SEAT

B 40D IR R AR

1. FCH ALV B AR T 7 R e B MR Tt K v 2 R AL RO AR BB K )

2. ANRRFUREHUR 25 E b R

1) i aR RN (s &E R TE D,

i TALIh AR O, SRS IR DU OB SR IRET M6, IR S IF
&R, ¥ [ R K 2L S T Sk K B e i b 25 R T Sk th KR E
FOFEGE A, A K2R T 6Lk KB, P 580 2% (L Sk Hh Kk 22 e e 3
B24T M6 X 20, HUT /KL= (UAF» REELK AT X AAmic ) K ILAMI o RiR ik
EHE.

B H i O RO 4 B R A BT I K 2 el SR AR 4R 4. BT
FELREANZHERS) KSMTEA, BRERE 8 A FEE 665X15
X & 12 4 BITRAETE 8 fESAHIEEET M6X20 b, i 4 4 HKid: 22 i F 2
I, RE SR ZEBLILA T, SERHKEZRIKRAS: ERFHBITITAS
£S5, REHBTITE, TR (10£1) Nem.

L Sk KB B R K 2 Bk b, SRS R R 0
QC621_A M35 & 25 REFIL.

¥ 8 1FF M8 ¢ 6.5X1.5X ¢ 12 75 FAETE 4 (FANAIRET M6X25. 4 ff
WAFIRET M6 X 75 L, Fid 2 it T M LAl 5k RRIRELTLA ¥,
TR THENER: CRATFRBITITAIZES T, RERBITHER FEH

¥ (10£1) N*m.

64 Rev. .4 H W) 1ssue Date MY Page
1 21 | February | 2025 6—10

;,j:; ggouood oo


https://v3.camscanner.com/user/download

Chongqing Zongshen Aero Engine

Manufacturing Co., Ltd
_ ,f STEH A A2 St‘ervice Bulletin ‘ CHONGQING CHINA
Zatnay 1onsen acro enome | NO. MSB20265-5K2-01 PHONE :+86-23-66376087

FAX: +86-23-66372674

R R At 2% 7 TR R TE it SR IR

~ " HEISE
(LeR e * Intake manifold
Carburetor Balance
Tube Assembly
HAEE
AxER Coolant hoses
Hose clamp 25 iR
: Radiator cap
A . B%M6x20
[ o ) .’5
- - 5
W ORISR Em
: . = O-type rubber
sealing ri
4xM6x25 A —
HAGE=RE
Cylinder head outlet water
flange seat

RRIE:E Y P p e

2) C145HT-VIA S H[FIRBAims R ZhHl (Aikn s R 2):

¥ B AR T2 S 7% 88 KB E I R & 32 RAF R4 28 KR E A3k
G, WZIKE EEUR A S HKRE, FIREIK E 2 iR T M3 X 20, HX
TR . AEHFEZIKE IR Z3IEE] M6X 20, M8X20.

g [ 7 AL 22 8 ST 3k H 7K B B e 4 b 25 R LSk HH /KR B R &5
B, MHZKIEZ R EBCFRLK KR, PR & 6Lk KR 2 B AR R ET
M6 20, M6X25, HiZKi%E2ME (e » RIFL ki) X M iRic) R ILAMU 0 BURAR
. WKTE X,

R O BRI 3 ) TR AE B At AR 22 B (R SR RAUR AR B BT
Bk AW ERES) BISMUSAEA, ¥ 6 /4 FRE ¢6.5X1.5X ¢12 7

LA Rev. JAG H W Issue Date 719 Page
1 21 | February | 2025 7-10

;,;:; goood o


https://v3.camscanner.com/user/download

Chongqing Zongshen Aero Engine

senpnpe | Service Bulletin " CHONGONG CHINA
zonsew aco eveme | NO. MSB2025-5K2-01 PHONE:+86-23-66376087

FAX: +486-23-66372674

BITHETE 6 (AN MIRET M6x 20 £, %t 1. 2. 3 MLt /KiE 2 LR % ¥ AL,
SR b5 0 T Sk S R MRAUTL AT ¥, SERR 1. 20 3 BEHKIE 2 e 2T : S FH
RETITA 3 E S F, RGHRITITER, HFRENE (10£1) Nem.

¥ 2 7808 6.5X1.5X & 12 4 I THETE 2 15 A/ IRET M6X 25 |, K
WHF WA T L4 4 B KR 2L LRI, RES 4 BIGLk 2RI L LA
. FERR 4 GLHKIEERERRC: K TFRIBTITA 3 B 5 OF, RGBT
%, FENE (10£1) Nem.

KRk KR EERBEEH KEZEMEREL L, A5 HMmeEZme
QC621_A B35 ¢ 25 KR

B 1T 66.5X1.5X ¢ 12 FUAE 1 NN AIRET M6X20 L, KIKF
L& FAM(d32_M6). WIKIESCH il HERKECRERNEL M6
BE, REHBTITE, FFEHME (1081) Nem. RFEH 1 FRE 685X15
X & 15 FUETE 1 FANAIRET M8 X 20 b, HKIRFE R B 018 DK, K
KR EMIREA, HEWKERENNE - M8 28, REKBTITE, FEA
. (15%£1) Nem.

s KR EEHEERKENERL L, RERREHR %5
QC621_A MIJeHfi & 32 RAEFINL. B 2 1447 4Pl _3 T3S LE 2 RN AN AIRET M3 X
20 b, FIWAKTE., WK LRI, HFEPKE X REmKKE P
HHE_3. M3 REE, RJEHIRETITR, frE 0 (2£0.5) Nem.

8 Rev. %A H W 1ssue Date TS Page
1 21 | February | 2025 8—10

;,;:; goood o


https://v3.camscanner.com/user/download

Service Bulletin
&xﬁmﬂﬁ NO. MSB20256-5K2-01

Chongaing Zongshen Aero Engine
Manufacturing Co., Ltd
CHONGOQING CHINA
PHONE:+86-23-66376087
FAX: +86-23-66372674

[\

4x kR
Hose clamp 25

—-""

‘\

- =~y
'f\@; .4&‘, S

A \’ 2xM3x20 ) :;‘,»_ 2

-

OZgE=EHE
O-type rubber
sealing ring

tHAKE= B
Cylinder head outlet
water flange seat

(& 2 C145HT-VIA RARIXEBH R EHREE

3) HAbkzhHl:

B KA Z R 5 ELk KRB #I R ¢ 25 RAFEELK HKIRE 1L
B, MK 2 EEUCF RISk KR, AR & T Sk K 22 e s iR 4T
M6, HKIEZE (il ad RELR A X 2 hRic) RIAMU o BRI 1 .

FeHi) O KRG o PO TR A 0T A H K 22 8 (Rl s AU R L B4t
B EEANEEEAARE) MIMUNERREA, B8 4 T8 ¢6.5X1.5X ¢12 4
FTHETE 8 FA/AAERET M6 £, it 4 KL Z B ZRIL (G5 4 TAE
AT S5, WK SIS, SEALIREE R M6X25), SXFRIAYEL k%
RO T, SR AKEZBRRAC: SRTFHIRITITAIES T, REH

WRETHF%, B 1% (10£1) Nem.

I8 Rev. HA1 H W 1ssue Date
1 21 | February | 2025

MY Page
9-—-10

H 00000 OO0



https://v3.camscanner.com/user/download

Chongaing Zongshen Aero Engine

: : Manufacturing Co., Ltd
Z}‘ SEBMhE Service Bulletin CHONGQING CHINA
2%ty 2onsen acro eneme | NO. MSB2025-5K2-01 PHONE:+86-23-66376087
FAX: +86-23-66372674

L Sk HH K BR  30T BE7E tH /K ik 22 e F B B3k b, R PR g 220
QC621_A B!k dii & 25 KR FILL.

3. ATHEARB, SRRLES FHIEA W, 0 RAE A FRERE
R (G JI KA RO AT, Zishik A8 RS, AEMTEHE
AR

4, ¥R LR IN%, QEIEITRIN, EBEERE Smin CRENHLIE IR
FEFE S0°CE 70°CZ ) JfENL, RNAHEHINELBAREHFEMRR. &
TMRIMER, BSER KL 2 BEE R TAE.

3.3 #it# APPROVAL STATEMENT
A HF R ARNE L BR R UA A B N,

4 %3 REMARKS

¥ NOTE:

< BT I S A 2 E e P AR L R R LR T 3R T

& BRI RENNLE EF A 3 TR R SERIE L .

& ALGHETR 1 FRE AR A 76 B

& WA RF PRI S R (WFFE: service@zsengine.com;
1: +86 23 66376087 ).

& HRERFKRRFZHMRIIEECFF (MEF: service@zsengine.com:
W +8623 66376087).

5 [§#% APPENDIX

WA Rev. %A H W 1ssue Date 5% Page
1 21 | February | 2025 10—10

;,;:; goood o


https://v3.camscanner.com/user/download

